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English Questions for CLAT Exam 

CLAT English Quiz 26 

Directions: In the questions given below, the statements have been divided into five 
parts with the first part given in bold. The other parts are named A, B, C and D and 
have been given after that, not necessarily in the correct order. You are required to 
rearrange the fragments to make a meaningful statement. If the fragments are 
correctly arranged already, choose option D- ‘no rearrangement required’. 

1. Besides making sanitation a movement through the provision of (A) / well-designed 

toilets and behaviour (B) / change in rural India, the SBM should (C) / have a broader 

vision of what constitutes cleanliness (D) 

A. BACD    B. DCAB 

C. ABDC    D. No rearrangement required 

2. The path-breaking verdict of the Sabarimala temple has put to rest (A) / the question 

of gender discrimination (B) / the exclusion of women from (C) / the Supreme Court 

striking down (D) 

A. ABDC     B. CBDA  

C. DCAB     D. No rearrangement required 

3. The demonstration effect has been employed by social scientists to (A) / in one part 

of the world can lead (B) / to subsequent events in other regions (C) / explain how 

events and other developments (D) 

A. ABCD     B. ADBC  

C. DBAC     D. No rearrangement required 

4. For a country with a population people interested in flying drones (A) / has an 

enormous number of (B) / of over eight million, Switzerland (C) / and developing drone-

based applications (D) 

A. CBAD    B. ABDC  

C. DBCA D.     No rearrangement required 



 

 

5. If the price of a commodity like steel and more of it needs to be (A) / produced to 

satisfy consumer demand (B) / that the supply of steel is scarce (C) / increases, it signals 

to businessmen (D) 

A. ADBC     B. BACD  

C. DCAB     D. No rearrangement required 

6. The High-Level Expert Group set up by the Planning Commission (2011) (1) / the 

country should be towards (A) / focus of healthcare provision in (B) / had recommended 

that the (C) / providing primary healthcare. (D) 

A. DBCA     B. ABDC  

C. CBAD     D. No Rearrangement required 

7. Girish Patel, a prominent presence and voice in the radical (1) / section of Gujarat’s 

civil society, (A) / human rights lawyer and social activist, (B) / breathed his last on 6 

October 2018, 

(C) / at the age of 86 years. (D) 

A. ADBC     B. DCBA  

C. CDBA     D. No Rearrangement Required 

8. Sugar cooperative factories have succeeded (1) / or less the same (A) / and the 

condition of 

(B) / workers remained more (C) / in manipulating the government administration. (D) 

A. CDBA     B. CBAD  

C. DBCA     D. No Rearrangement Required 

9. The poet–singer duo Charul and Vinay, (1) / and exploitation, and express vision (A) / 

victims of violence (B) / the founders of Loknaad give voice to the (C) / of humane 

society for all. (D) 

A. BDCA     B. DCBA 

C. CBAD     D. No Rearrangement Required 

10. The Network of Women in Media in India stands (1) / in absolute solidarity with all 

those 



 

 

(A) / about their experiences of sexual (B) / who have bravely spoken up (C) / 

harassment within the Indian media. (D) 

A. DCBA     B. DCAB 

C. ACBD     D. No Rearrangement Required 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

D C B A C C D C C C 

 

Explanations: 

 

1. The statement is correct in its original form and thus, there is no need for 
rearrangement. 

Hence, option D is correct. 
 

2. The beginning fragment talks about a verdict. Thus, the ideal choice here would 
be the fragment D which describes the verdict more in terms of which institution 
delivered it- 

Connector fragments: 

D and C: 

the Supreme Court striking down the exclusion of women from 

C and A: 

the exclusion of women from 

the Sabarimala temple has put to rest 

A and B: 

The Sabarimala temple has put to rest the question of gender discrimination The 

correct sequence is D-C-A-B. 

Correct: The path-breaking verdict of the Supreme Court striking down the 

exclusion of women from the Sabarimala temple has put to rest the question of 

gender discrimination 

Hence, option C is correct. 



 

 

3. The beginning fragment talks about a phenomenon and thus the next fragment 

should elaborate on it. Fragment A is ideal in this case. 

Connectors: 

A and D: 

been employed by social scientists to explain how events and other 

developments 

D and B: 

explain how events and other developments in one part of the world can lead 

B and C: 

in one part of the world can lead 

to subsequent events in other regions The correct sequence is A-D-B-C. 

Correct: The demonstration effect has been employed by social scientists to 

explain how events and other developments in one part of the world can lead to 

subsequent events in other regions. 

Hence, option B is correct. 

4. The beginning fragment talks about a country and its population and thus must 

ideally continue talking so in the next fragment as well. 

Connectors: 

C and B: 

of over eight million, Switzerland has an enormous number of 

B and A: 

has an enormous number of people interested in flying drones 

A and D: 

people interested in flying drones 

and developing drone-based applications 

The correct sequence is C-B-A-D. 



 

 

Correct: For a country with a population of over eight million, Switzerland has an 

enormous number of people interested in flying drones and developing drone-

based applications. 

5. The beginning fragment starts talking about the price of steel and hence the next 

fragment should elaborate on the same. The ideal fit here is fragment D. 

Connectors: 

D and C: 

increases, it signals to businessmen that the supply of steel is scarce 

C and A: 

that the supply of steel is scarce and more of it needs to be 

A and B: 

and more of it needs to be 

produced to satisfy consumer demand. The correct sequence is D-C-A-B. 

Correct: If the price of a commodity like steel increases, it signals to businessmen 

that the supply of steel is scarce and more of it needs to be produced to satisfy 

consumer demand. 

Hence, option C is correct. 

 

6. The first fragment of the statement: 

The High-Level Expert Group set up by the Planning Commission (2011) 

It should be followed by something that explains the recommendations of the 

high level committee or there should be something regarding this. Among the 

given fragments, only C is there that explains the recommendations of the expert 

group formed by the Planning Commission. 

Connectors: 

C and B: 

C: had recommended that the 



 

 

B: focus of healthcare provision in B and A: 

B: focus of healthcare provision in A: the country should be towards 

Only D is left which will complete the statement implying that the focus of 

healthcare in India should be towards primary healthcare services only. 

The complete statement would be: The High-Level Expert Group set up by the 

Planning Commission (2011) had recommended that the focus of healthcare 

provision in the country should be towards providing primary healthcare. 

This makes the correct sequence of fragments as: CBAD. 

This makes option C the correct choice among the given options. 

7. The fragments of the statement are in order and the sentence is both 

grammatically and meaningfully correct in its present form. Therefore, no 

rearrangement is required in this statement. 

This makes option D the correct choice among the given options. 

8. The first fragment of the sentence 

Sugar cooperative factories have succeeded 

It should be followed by the description regarding the area in which the sugar 

cooperative factories have succeeded in the country and among the given 

fragments, only D is there that implies that the cooperatives have been able to 

manipulate the government administration. This follows the opening fragment 

of the statement. 

Connectors: 

D and B: 

D: in manipulating the government administration B: and the condition of 

B and C: 

B: and the condition of 

C: workers remained more 

Only A is left that will complete the statement meaningfully. 



 

 

The complete sentence would be: Sugar cooperative factories have succeeded 

in manipulating the 

government administration and the condition of workers remained more or less 

the same. Therefore the correct sequence of fragments is: DBCA. 

This makes option C the correct choice among the given options. 

9. The first fragment of the statement 

The poet–singer duo Charul and Vinay, 

The next fragment should describe something regarding this duo of poet-singer 

and among the given fragments, C can give details regarding the duo as the 

founders of Loknaad and also being instrumental in giving voice to the victims of 

violence and exploitation. 

Connectors: 

C and B: 

C: the founders of Loknaad give voice to the B: victims of violence 

B and A: 

B: victims of violence 

A: and exploitation, and express vision 

There is one fragment left to complete the statement to imply the contribution 

of the poet-singer duo mentioned in the sentence. 

The complete statement would be: The poet–singer duo Charul and Vinay, the 

founders of Loknaad give voice to the victims of violence and exploitation, and 

express vision of humane society for all. 

This makes the proper sequence of the fragments as: CBAD. 

This makes option C the correct choice among the given options. 

10. The first fragment of the statement 

The Network of Women in Media in India stands 



 

 

It should be followed by the contribution of the Network of Women in Media in 

the country regarding the revelations of the women journalists in the country 

speaking up against sexual harassment instances against them within the 

industry itself in the past. Among the given fragments, only A is there that can 

carry forward this argument and that is why it will follow the first fragment of 

the statement. 

Connectors: 

A and C: 

A: in absolute solidarity with all those C: who have bravely spoken up 

C and B: 

C: who have bravely spoken up 

B: about their experiences of sexual 

There is only one fragment left i.e. D to complete the statement as intended. 

The complete sentence would be: The Network of Women in Media in India 

stands in absolute solidarity with all those who have bravely spoken up about 

their experiences of sexual harassment within the Indian media. 

This makes the correct sequence of fragments as: ACBD. 

This makes option C the correct choice among the given options. 
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